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39-This........ of parliament will imposerestriction on
theimport of goods.

1)action 2)acting 3)act d)active
40-Thismatch is....... because the coach’s work depends
on it.

1)decisive 2)exciting
3)interesting 4)expressive

41-All workers expect the committeeto ......to a good
decision.

1)find 2)decide 3)come 4)develop
42) | liketo......thisidea a little more before | go to the
next point.

1)improve 2)correct 3)describe 4)develop
43-When | talked to him on the phone he couldn’t
....... my voice first.

1)know 2)redlize

3)find 4)understand
44-That film was very boring because it was badly ......

1)editted 2)editorial

3)edition 4)editor
45-The........ on his face showed that he was content
with hissalary.

1)sign 2)symptom

3)action 4)expression

46- | don’t like my car and I'm going to.......it for a
better one.

1)change 2)sell 3)trade 4)find
47-Thefirst computer was.......... in theHarvard
university.

1)invented 2)improved

3)organized 4)developed
48-The principal made the students........... to their
classes.

1) gather 2) furnish

3) practice 4)disperse

49- |f we know when an earthquake is going to happen,
wewill be ableto save......... people’slives.

1)many many 2)very many

3)much more 4)many more
50- It ........ asif two pieces of metal are being rubbed
hard together.

1)become 2)is 3)beleives 4)sounds

=00 DY g

| (aix85 ) loslm |

?wlaw&uwjéébflﬁ—\

ﬂjwbdujbjé :O\.U:é(\

Jw“);u;.xb(f o}?v_xA:g:,.AL,s(Y’
k(Y

GaelSls s Is(Y

Syl
?AJI.UA,a-;&)MLJ.éq;f(I.\S);—T’
e (Y b ol ()
2501 558 5 iy Sl s s 55 0l 5 0r) ) Sy oo €

sl okal 5 annys 4258 PS5 (S

L () 5 et 5 GBS Lol i L ol 5 O ()

.J;)lxﬁsrajl(._;%ju:,f Lel s oo oo 51 s O (Y

I O U5 6 A ulsa Lal it a3l ey o5 5 Ol (T

i 15 g0 b Ll 5 5 568 5 e Ll LB hor Ol (¥
ol 3yl S sl 5y 5 ¢ 5 20 s pggie b4y S plas - 0
S _glima

(S yosamr (f w‘)ﬂ(\'

Ehsm e (515 dolaa(Y

Sl 5 255l e 5 S50

s s Sly 3,50 OLLIICY

350 Canly s Sy 0T

@55 03 Sy 3l b 4 9l B g (F
‘J.?((f‘a.k..g.uf.\}a6}#’[450&»#?9/‘_;&)@\&:}4#}‘{}1;6»;»g;.:..:):—;'
o 8 s 5oL

w\)\}ﬁ(a;,a)‘\oﬁ(\’ Cw\r%b}?;(\

G HE5L LS Jal b O (¥ dow i oo 03,03 052 (T
25 0T 5l 4848 3y sl ST 3 0L K 0 Ol ) o) S 1 hana—V
el AJAT}'.@H; rUS

Sols 10

Sl el (Y

Slsb(Y
Cgs ) ol (¥
?Msuogal‘,}?qfﬁﬁ—/\
Ssls s yaa(Y ol Jlls 0L (Y
;{Lf)fu?“)j oes(¥ &ij.fﬁw(\’
AFCIU PO FSTN fL_.L!_, 355093 455 fLJS— q
Lil03 0t QLSS s 540G 2lesd 5y 1y 55
ol 48,8 0,05 5,5 (S35 51 1) 355 (sl syl pud po( Y
215 G s S 5% 4y ) S(Y
Gy g8 0028 503508 03 55 (55 (¥
Sl 4 8 &) goo ('Qj)lsﬂjlﬁéhwjéabjyéﬂfdb»Ala?f‘JSJQ_ \e
Lsl-lus (N
=S 05y 1ds Lol (Y
il Lol 80 el 4y LS LS 1S 350 4y (1
u(.f cwla.xi)&ﬁu)J.éASé)S:‘,}(\‘
! 3l o (glirl i 3) gay5 4 S (US— N
Ll o o (03 0yedsd 4 ahear (511
A o o gl 3 5L (gole (sosed 53(Y
LS o S 295 Lo A b e sl 1SS a0 05l (Y
ot 4 (B 5ol 5 Slsl ¢ ol ¢ glaanty 5 Alar sl 3 (¥
ol SN
3505 3429 Qbeus Gl 395 Caamy DL 3 Lo (sl axdS ) cyle ;5=\ Y
ati—oylazal(Y i)
andi— et (% ol olel a(Y
NG (616548 (oo S 458 (933 53 e bl 45 blus ) 2l y3= VY
§3,15 34 quus (s b5
ol (¥ Sl Los 28l (Y

3N

| (483 1+) aycm |
it gl D5l ko) 1S Sl Lndl om0 el palo— V¥
(L aoy aadl gf’d|&an\l|fl¢\J|‘_}Z)_§J| oda Jo

31K sl sy a5 55 by MBI el 5155 o 4S 353 03,8 OLaS Le Oliais()
o G

3 oot K e (55 45 M ol 45 W35S oo 0LS Olais(Y

OBl amd K (6la) 55 s 534S 135,50 OLeS Lo Oliadis (F
N o8 S5

Koo (a5 petenins 53 1y & ol OUTAS 53,5 o OLeS Lo Olias (¥
bl o 51 e
N psd J;,&S(,|>,;JT» T & loadl oy o5 8 rmnal) alo— 0
(=5 gBs s ansl R CHRVEM

- el ppesllas ytf\;\é’m;,@f\biﬁ,t(\
I 5yl 5 LD 2T bl Joloedl 5 Lo el palo— V7
(olagad) o S Lakae Uisplad

(i el CabfJpgaeald s c Bl 5 Jrme ASLU (eSS0

(i) el yme ¢Syl 5 Jrne ccblinald ¢ M0 50 (Y

(dla>)» A:L&bgjb/r)y ‘VJL“}@"" L ¢ S s e (Y

el (o alels Ul pme cp3Y cdbbieald ¢ SY6 5 2ee (¥
Sl oLl b Uasellpale— \ Y

Sl Bl 0 75 501 LI

5,25 58 e 4 flami(Y

5T Olonzal Jaield (¥ el a0 157l 45 fanzei (Y
ez E)l_.,‘-é((:,/j:g)l stu;.c.,._d b= VA

plas i (Y 2L gl ()

daza glanzul(F eole 1 gl
S5 M o M deadaadl il Lgaal L 415, Lad) b (Jloudlyd) gala— V4
G )y

20 (¥ uﬁ)l» 53 ((6))(Y «/;{;)» D) (SH(Y
Sl r Dl B0 sl oot lall 5 (o) Clpslpalem Y+

w0

Syl
A e 7 43U pnin(¥ oA JUsnin()
G U LSLL doo Lo S8 1,80 Couliall palo— YA
Cped Ul (F DpeJUaII(Y iy )
S gbans Ll slod! L;j;» 5Ll B (LD 2T Ol oY) g sal= YY
s (¥ Sl oA ko)
Al 5 gl JeaST 1 SR 5 Lndl 5 slas Yl s s YT
« %’)MJU cl-s/c'.wyaﬁa
Las (¥ F( LY oLy
B Al i . e Al s a0 S0 Cliallpale— Y
2t Ll LICY Ln()
s lunally (gl o5 o s > el SIWI B Ll 5 sl pale- YO




